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1. Home->New Document->Lists & Spreadsheets

2. Type the name of the x-axis data in Box A

3. Type the name of y-axis data in Box B

4. Enter the data in the appropriate column
Line of Best Fit and Correlation Coefficient
5.) On the data table: Menu > Statistics & Stat Calculations - Linear Regression (mx + b)

1 One-Varlsdle Stetistlcs...
2 Teso-Yariatle Statisties.

‘> 2 Distribigions » : Linear Regeession (avbx:...

2 Corfidance Intervals ¥ 5: Macisn-hiedian Line. ..
4 Stst Tests SE 6 Quadiatic Regresgion...
] 1 Cuble Regression, .
7 18 Quertc Regression...
O S—: - Dowes .
% 2 Exponential Begression...
-

Tafe

, You need to:

5.) Identify the 'r' value which represents the correlation coefficient. Use this to identify the
type of correlation

Strong Weak No No Weak Strong
Negative Negative  Correlation  Correlation Positive Positive

| |
| | | |

-8 -5 0 5 .8

F -3

A 4

6.) Identify the 'm' and 'b' to write your equation for the line of best fit y=mx+b
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